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A DMy O 7oudt v 7 EMAN X 2 MR 0 )
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(1) #waR 1= ' £/ %% (42)

(2)
(3)

(&)

(6)

(7)

(8)

(9)

(10)

(11)

=—8-.:r
gk 1 =62 F 285 (24,12)

L 2“’5+ ;:;'=l _hfzx!i(4.—-§-)

R -~ 3 =1 £ B (5.4)
ﬂmﬁ .1*.'y=20 785 (4,5)

S

y‘=—3rm’ k7 =2 > B4

po=at JHRY o W 6 T FANA 7, Y
YIS 7R £ 3,

T, slope > 52 >+ 9 v 4 7, v iR, — T
FER7RA 3, w22 iR » 8 (2,10) 75~ v 4 7,
v72h5BRX 7R 2 3,

B z*+y*=8 ok « =2y + 2 ZHMIRA 3,

A ladder 24 feet long 1s leaning against a vertical
wall. The foot of the ladder is moved away from

the wall, along the horizontal surface of the ground

(12)

(13)

(14)

(15)

207

and an a diﬁtiou at right angles to the wall, at a
uniform rate of 1 foot per second. Find the rate at
which the top of the ladder is decending on the wall
when the foot is 12 feet from the wall.

Show that when the top of the ladder is 1 foot from

the grounn, the top is moving 575 times as fast as

when the foot of the ladder 1s 1 foot from the wall.

A man standing on a wharf 1s draWing in the painter
of a boat at the rate of 4 feet a second. If his
hands are 6 feet above the bow of the boat, how
fast is the boat moving when it s 8 feet from the
wharf ?

A man 6 feet high walks away at the rate of 4 miles
an hour from a lamp post 10 feet high. At what
rate i1s the end of his shadow increasing its distance
from the post? At what rate is his shadow lengthe-
ning !

A ship 18 75 miles due cast of a second ship. The
first sails west at the rate of 9 miles an hour, the
second south at the rate of 12 miles an hour. How

long will they continue to approach each other 7 What

18 the nearest distance they can get to each other

(16) A wessel s anchored in 10 fathoms of water, and the



e

(17)

(18)

(19)

(20)

(21)

(22)

cable pisses over a sheave in the bowsprit which is
12 feet ahove the water. If the cable is hauled in at
the rate of a foot a second, how fast is the wvessel

moving through the water when there are 20 fathoms

of a cable out ?

A soap bubble is expanding, always remaining spheri-
cal. If the radius of the bubble is increasing at the
rate of 2 in. per second, how fast is the volume in-
creasing !

In Ex. (17) find the general expression for the rate of
change of the volume with respect to the radius.

If a soap bubble is expanding as in Ex. (17), how
fast is the area of its surface increasing ?

In Ex. (19) find the general expression for the rate of
change of the surface with respect to the radius.
Cube of metal is expanding under the influence of
heat. Assuming that the metal retaints the form of
a cube, find the rate of change at which the volume
is increasing with respect to an edge.

The altitude of a right circular cylinder is always
equal to the diameter of the base. If the cylinder is
assumed to expand, always retaining its form and

proportions, what is the rate of change of the volume?

(23)

(24)
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Find the rate of change of the area of a sector of a
circle of radius 6 ft. with respect to the angle at the
center of the circle.

Find the rate of change of the area of a sector of a
circle with respect to the radius of the circle if the
angle at the center of the circle is always 5. what 1s

the value of the rate when the radius is 8 in.?
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(A) Zfmlsk’ WAAR K ;v

[XI] d(sinx) .

.

(XII) d(cf(;:a:) = —Sin @

(X)) AE02) gty

EXIV] d{cot .t')= —cosec®.r

o

(xv) H5CB)_cec 2 tan s

oa

(XVI)] d(cosec x) = — cosec & cot .
ol

(X VII] ‘rf('?:il;s ®) ninn (fH v versaz=1-—cos ]

(& ™)
(XI). (XII) /@~ P85 =R 7F=F 27,

XIII —tan z = 307
[ ] Y eh cOS &

dy _ cos*z+4sin’z 1
da cos’z cos®

=gsec’x

Al B% =
[XIV] d(cot v) = o

COS ' -1 ”
(— )=—— = —cosec’x
sin »r si-.w

(x (e

I(sec ) (ol 1 sin .»
XV : L= == —=8SeCat r
[ ] v da ( CoS & ) cos®.e ek bt

[:XVI] d(cosec ) _ ( 1

: ) = —cosec x cot
o da * sinax

(XVII) d(versx) _ d (1—cos z)=sinz

x iz
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(B) v % « /iy »v 5» P88 AKX (V) =23V %/ @

A+ » B 7R/,
' _r{(sin tl) B el
(XI') i =cos % -

d(cos ) . du
/ pa— T A
(XII) - sin %

N d(tanw) . du
(XIII') = —sec?y %

; d(cotw) _ _ 2, (U
(XIV'] e cosec’s —

[XV’] d(secu)=sec u tnn u _du

dx ol

(xvr) Heo%eet) . _cosecu cotu ¢
(e £

d(versu) _ . . du
' o
(XVII') s -
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(C). =AMk MAAX K7, @ (1) y=tan®(1-32%) F§R €2,
“Sin rde=—COS2x+¢C Or Vers—+c' ccceceees (71) [ﬂ] w=tan(1—3.-c’ ), u=1-=382* P A ¥
T g - dy _ d(w®) dw du
jcos BAe=8SI1l L4 @ c+ererescscscscscscrssssosssssnce (72) d&'ﬂ_— dw i du " da

Sl CAB &b 8 sivsorsiabsacosasrinsin svises (73) =5w?. sec’u . ( —67)

= - £ a 1— ;.' 4 1'—'3'
COSEC’.T{}!:D=—QotJ:+c ........................ (74) 30 x tan ( 3z )&C ( X )

3
3 b0 B
SEC L tan 2dr==SeC B+ G ++trerereresnrrssrocrane (75) ) (2) stan rsectzdr FR A3,

(EJ sectr=sec’z. SEC’;IT=:(1+tan'JE)3ec’x

u=tanaz b X ¥ » du=sec?z dx

po— g e
-

3
St‘.aﬂ-i sl‘( 1 + tan '.1‘)8&: 2 o

T P
= e

jsinmd: cosmx+4c or versmi+4¢ - (71') ! - |
=5”‘(1+ul),,lt=%u§+%—lii+ﬁ 1J|
j‘cos muy =-—:‘—si NI C  srsessssensrsisnsssnsacenss (72’) " % . *
akr tan .-z:+-9——tan Zz+c |
J.seC'ma: o =Htallﬂh'+o ........................... (73’) et
|
scose(:'m.u dx == = COLMU+EC  srrrvarsranrannasnans (74,!) !ji;
X7 BB 7HDE 2 i:
1 t
jsec me tan mae r(J*:Wsec MU+ C  srveessesnrsnnvene (75’) ( 1 ) Siﬂ Ba ( o ) COS-—:;—: ( 3) tan(l-—3a:) | |l
|
— 4 osec(2—x* | 5) seciz 6) vers3x !
scosec m v cot ma de=- ml COSEC MU+ @ +erevveennee(TH) E N3 pom r sl i Sl |
(7) cos*x (8) sin6x" - (9) cot(a—br)

(10) tan(*3%) (1) cosec(—6z) (12) secm:®

(13) az™sin(m:) (14) (x—1)*tanz
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. T
sm(Zr—-T)

(15) sin*5e . cos$3u (16) & X '
Sin(z;t-'-*l-—:——) 79. Iﬂﬂﬁ@ﬂ/ﬂﬁ'ﬂ tﬁﬁ' |
b B b (1) y=sin"'z 7 fH{R8%, 1

(17) w2 (18) l/l—cosﬂ kR, Co45 ~E ux CO

2tan - +1 l+cost
; H=v7 oy ~B(-1,1) A=
in x4 b S
(19) Ggins—tversy (%) (tans=3cotz)y/tans B e s RSHERS ), W
R’EBP7R A~ 2, F —=1v1 p2@=7N~¥ 202 )—

(21) Isin Trde

(22) \cos 3z dx

27fi=Bv7y i ER=%
ZFE2A NV, JlB7 — kB

(23) gsew(_})_a,-)m,- (24) Itan'.r ds Py Amz s =BHR B 7R
- i TMe |
(25) jSina.t: olr (26) ESin 1Y/ cos x dx |
. —_ﬁ_f siu"‘;r.-f_%— )
(27) jcos 2V sinde (28) gcos a(1+ 4 sma+ 9sin®e)de b |
B 2 Aol BbE - BIRR 2 F = 7 Vi y=sin—e 2 C G A F '
(29) jtan’.:r sectzde  (30) 5.2;:: cos(1+ 2% )l |
) o
(31) Ssin(l—B.-n)cosg(I - 8¢)de ¥7 y=sin'z FAvw !
# z | x=sIn y i T
(32) “.10052.1' oo (33) jSCOSS.:: . s da | : :
0 o .5 . —cosy=:l:v 1_ml
oy
7 T . |
(34) j sinzcosx dr  (35) rsin 3 da (£) 24K~ cosy 7 ff=a v F7E~N, cosy>0 F 7 i|i
0 0 ' |

T 1E, C05y<0 fﬁxi’ﬁﬁ?ﬂ”fﬁ*% Y ﬁ)lf‘:_l:)ﬁﬂ:.‘a I
cos™ . » (37) jisinl_l. d.e v s |

O

(36)

IA
wl =]

f
(38) J'*(sin r—cos x?)de (39) jf(l +sin ) *de ——g—— <y
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i = cosy =0
WK=K~ ER7MF 475 2]+

:;‘;=]/1—:1:'
{ 1
Xvin) 9 =
E A Vl_x:
g d(sin~"x) 1

x -]/ l1—2a%

(i) AR » -1 v e =Ry B2V FTH
r= 41 -"-EVJ""*‘ZE)?R-"?E:'}H%!:F $+c0 b FN,
X, cos™r 2R, BR =74 7 < @ABEF ) o

(2) y=cos—'v 7 IR

B, ot =@/ 2 o 2 WRBAUEYR=v7=2v7

—((RBF 7 v 2 vz 2 =EBIR

2RIV,
0<cos~'¢>n

B/ WIRR T =7 1By 2 €6 &

2 EdrS  Tab

Y=cCcusS™'® h R v

r=Cos y

dx
(ly
RV = sin y= +V 1—2 7V

AL/ BE=23Y 7

= —Siny

O<y=<n=

siny >0

FTNVNA D

. sin y=]/ 1—2x*

dy
B AR
dx vV 1-2°
[(XIX) d(cos™'®) 1
dv vVi-z*

(3) y=tan™'z , fH{R¥K

JeiiB, o2 ~E/7fm* 63 =v7 27 —[HNEBT 5

vAME A =BBIRBRTIE o
w3 o
3 <tan™'a< >

W, F=7rll v 2 COA W7 K770

P R Vv

y=tan™a

r=tany

e
ly

. PR |
da 142%

=S€C'y=1 +at

[XX) d(tan~'z) _

1

da

1+."l:'q
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(4) y=cot='z . PHIZB '

kg, 63 ~B/7imx 63 =viZ7—MRkF >
VANWVE R :-ﬁﬁ]*!ﬂm?ﬁﬁ‘ﬂa | dy _ d(sin~'u) s

(1) y=sin"'(—) 7ifF €=,

oy
dx e " dr Eu_'a_ ]
O<Lcot™"a ,\ A - :
BB F=7 vl Cob | T Wise e fiozy
~ 2 KR T > - ¢
2 z 1
y=COt"’m F A vy O ==
. \-i\ Val —.T"
r=cot y RES N TR, £ |
e
b
. oo |
JIJ- = —Ccosec*y= —(1+.1?') \ B (2) e (T) 7“&“3 - |
( .l} 1
v 1 dy _ d(tan™'uw) du - [
> Mo 142 el clu d L a ] E
. . |
(XXI) d{cot™z) _ __ 13 1+u* a |
ol 14 a° i
a ih*
L = S a* 42’
!
—1 !ll
(XXII) d(sec’'z) 1 . gy d(sin='a?) 1 da?) _ 2 it
ol le ] _ m ( ) ' - =Vit______i. . ] o — it
| l—(a%)? ax V1=t i
CXXIII) | d(cosec™'z) =1 B (4) rl(se(cz'i'_‘_x')’_3(“(:_,'}‘),_;&__9?:;’_:::*)_
3 | dax el | v | =
| aﬂ/' Hd
T e T - =3 (sec—'z)’— 1 f
(XXIV] d(vers™'x) _ aVax* -1 |
v V2r -2t | &
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80. = AEN AP ARAK 2 I v ;
’ {5 : e " ol
w0 [ ) Wi-er 9 Lt |

—_—atn—1_% _ —cos™? = _ l Spainins sanubes TL
j“l/a'—-f’ sin +6 or —cos™' — +c (77) L I
¢ ax da de
ol = - '
j = tan="" 4c¢ or ———cotm ¢ .-(78) e d dr
a:++* a a a a 20 j 21 — 22 ——
(20) )giom ) Svle—m' (22) j Vet —16
fHy a0
lx dx dx
b 23 =L, A —
5 — M. N T — 1 cosec—*® +of (79) (23) S'l/lﬂ;r:—.u' (24) S'l/l—(l—a:)’ 5 .{l“f"(l—.t')z
r]/.v’-—a' a a a @ |
l
dr - oy SRR S D R el (L PSSO L T"
51_/ L= vers™ 0+ (80) 81. 35 P B b B B |
a %1 =739¥VvEsEHRF7 % |
ﬁ:ﬁ E Y=@T cerevvenenns (1)
+ v 7 58 Exponential f.) b 4 v a 7 b4 7
xR I3, by B 7 15 iy B (Ex ) 3 )i
a 0 ,')V" *x !
(1) ew™"3* (2) cos—" » (3) tan='(3z) 'S
@ =0 7 v y=1 ¥ n
(4) cot"—g— (6) cos~*(1—-2) (6) zsin'® aaks il i 1)
A=p—cn F v y=0 :li
[y
(7) z’tan—'2/w (8) cosec*(5x) = () »=x 787 /fli= i )
Asympiote |() X ;
(9 ) sec"(.r'+1) (10) COt-l(l—x') ‘ﬁ-./ iﬁ-‘-"—IE"'IVﬁu"‘ o The Expo:tnctlilf.‘urve | i
. __11_*_3. P *_-; m=a£ ............ (u)
(11) sm—is, (12) vers™'(3x+1)
V2 =7z oy 7 IR
(18) tan— %=1 FVo 2Tl BT+ v
2

ynlog.g; ............ (ih)
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2, (iii) 7 ¥8i® (Logarithmic f.) t4 v a 7HEN4

7o

i = 6 Wiy B b N ol B L = SUPRBKT Y o
¥ v VE/i=Bry7 7 i HEANVIR= a>1 T b

r=1 F v y=0 ¥
x=—») T v Yy=—co

T—rco F v Y=+ o

¥

The Logarithmie Curve
Yy=log r

82 e=Lim (1+ — )’ == 2.71828

r—>p w

v WMEXRIE 2 BHIMY 7k A=F rvBEH7E7 v HE
=2

(14 1 )x"l—!-a:(%) +1(r2—rrl)( 1 ).+m(.l—;)'(1—2)( LI

+ .r'(a':—1)(.;9—2)...(:;!_“;_2)(_].,_:3_1') ( 1 ),

1

._1+1‘

by (1= 2 )4 g (1= ) (1) ek

(1--——) _) (1—-"1—7-)(1—-—-*) -+ (1)

a!
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X7 (n+1) {H72M7 Sash =7 ~v, BY) 7R/ F07
Ruyy =7R»

1 x

(1+ ) _Sn+1+Rn+1-

H H
P7 oo =2 %72 Suss BRRusi »X7fmv

o5 1 1 1 2

n—1

(1= (1-2)(1="70)
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=__1W(1____)(1__) ......
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1 . 2 n
i . e ). ool N - % &
(1-=-) (1-=), (2 ) S FE K= 1 2y
INF var i
1 1 1
Ruv:s < — 1 TR o SR e
< (n+1)!{ +n+2+(n+2)(n+3)+ jo - ﬁﬁ}
m-yi n—>rco fﬂﬁﬁ?%? |
X (n+2), (n+3)-Sfifre (n+1) 29 HF o s R 1
lim (1+-——) nldertartay oty
g & o 1 e 1! " 21 " 81 n !
e (ﬂ+1)'{ n+1 (m+1)" LR e WA i’v} =
{ } AR 1. Al w (n-i-ll)' y JAM Y (v—n) F 1% +1 ,
+0.5
kB~ 7 2L 7 2o o b
1 1 +0.166667 : {
m+_11_)"“" =n+l{1_ 1 _.} +0.041667 |
B S (7+1)"
n+1 +0.008333
A eSn FyFL !"+_}{1__ n+1 .4+0.001389
E 1> ui (”_*_l)z—n I< +0m
=7 3V KFrills ) 2 =97 +0.000198 i
1 + 0.000025 |
R +l<(”!)u !‘
+0.000003 l#
2 . 1 f
7 . I |
> 7 I:E'R,+<(n!)u 5 9. e any s eavis i
=2.718281828459045  + s+ evsvenss it
R = lim 1+_._ =lim S,,,+lim R,,, ?
) =l G B, <) BT o FPEF = R B
. . 1 r i |
my 7 O<LT° RH.(n(n!) Fmv=3) 8=],,§.E,1. (1+ 1 ) st 2718282 «osevvsieass
. . 1 * ‘ 1 »n
ekl (145) Clim B, + o 22 e 7JE 2887 ARNY (Natural log.) X gRHE

‘/ #7 b Y 7 Narierian logarithms + 4 7,
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BEME=-R7 i, BlRL=R7EERNK 4~ (vi) =T log.e
ERYB, = b=+ 7 log N 7 logN i v HHNK &7 L% BTN |
Zlog, N r#&Z2=7 b R,
d(log.z) _ 1
LB dx @ logae
:t: s . >0
85 Log, /ﬁ%ﬁr 15. ¥ a>0, x> l‘ A B aidD P s Tog, 5 OASI00 ...
(1) y=log.x PRV [XXVIJ d(log,,z) _ 0.43429
(1) y+dy=log.(z+4dx) dx e SR

(lii) dy=logu(il’+d$)—log-ﬂ5 Ey Ga=¢ J v, log,e=1

=log,(1+—4§)

EXXVII] ' d(]okgc :B) [ 1 |
C H .
: L Al 1447
(v Z= G5 =% RARAR? B
1 x dx -
- =%~ log.(1+ = ) s(i*-_gw—tdm=log$I+o ......... (81) l_
] l 1 do (55 ‘ 3 | x JFli7z 2272 =2v7
=1 . log.(1+ 2 PR T ; |
Le 1
x>0 F v : =logx+c¢ i
: dy 1 ,. 4z L. e y @ ¥
(v) lim S m Wit | i
L son S 1. 48N s St E_df“_log(_m)+° |
N S
WO 1 m Bl (1) y=log,o(20+5) Fm % L TRao
= logflim _ (1+-20)" |
(%) 20 +5=u b A F
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vV M=
ﬂ- dx Gx?® =_g§_
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al

log,,u  du
u LA

- . logy, ¢ . (22*)

"

_ 0.43429 x 227
2245

# (2) y:logv,li'i" Frr e Y spaa,
l1—2 c

(%) y=log Vii:E:_;{log (14+a2)—log (1—.—1:)}

cly -__1_{ z's 3 &l}
e 21142 11—z

N

T 1—2°

BB | TR

20 +10=u b A ¥ » Gaidxz=du

e'de 1 j—frﬂ——=—1--logu+c

2:°+10 6 % 6

I

%—-log(zn’ +10) +¢

B (4) 5tan:z:r_l;v= —log|cosz| +¢ T,

cosr=u b A ¥ N —sinade=du

(1) ?t/ﬂl7ﬁ5}t‘='o

(2)

(3)

jtanmdz=5 ok dz= _j__du_
COos @ U
=—log |u| +c=—log|cosz| +¢
stanmflx=_loglcos;n| d @ cevervecssiivennanaes (82)
-‘lcot 2 dr=log |SInx| 46 seererrrrrriiiniiiiinas (83)
j‘ dv -10g‘tan__l+¢ ........................ (84)
sin
dx x T |
- AL Nl | saslondomins 85
Scosz, log‘tan(2+ 4)1+a (85)

(i)
(iii)
(i)
(iii)
(v)
(1)

(iii)

fil

log,.2*

log, n'[/-l,_

log(1—52%)
log(1—=2?)

log sin @

logy/1—2*

log(a—x*)?

(1)
(1v)
(i1)
(iv)
(vi)
(i1)

(iv)

]0g1 ¢(1+2.’I’7)

2

log, ,( .

log(2* —5x+T7)

log(5x—3a*%)

@
log tan —-

'

a+
a—2x

log {( a—a") ’1/b_—'713‘}

log

|
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(4) R/BR7R2, z AR BE=R7 = " ¥ERF v ~ZvI@BAr=
() [Ba (i) [Ac)la FHHY, =2 Blrmn 2=—u VA7 u SERF Y.
| y=(—-9)"=(-1)""
(iii) 5(1""’)'@ (iv) j ® & 2 WEBF = (1) HKYF
£ r*4a ®
d » d(u"
(5) %/ EMA?R~, G V.
. . 3 e "1—:1!! n
(i) de:r (ii) L:—d:n =(_1),d(;:‘). dd:
| AEEArg, =(=1)"m"=*(-1)
=(=1)*(=1)"". =" |
(iv) '[”1";"’ de  (v) Liii’fw —n( —u)" 1:
= na"—? |
|
84. H 1) (Logarithmic differentiation) He= P(83) AR [IV) ~ig8k »n »IEE 2 BBF ~ b *RL ‘

M~ v vl 7 EEEAVIC) =N IR 272 ANpa b TRV,

PR o B R WA me ey G e,
7o |
B (1) y=a" 7 R R 2. (#F) logy= -;—{log(ﬂw) +log(6+w)—log(a—m)-log(b—-’v)}
Hy n ~fEB7EY=v7 2 ~E/Br = e s : 1

(%) y=a" y dz 2 la+tz btz a—z b—z

logy=nlogx _ B o b _ (a+d)(ab—2*)

d(logy) dy _ 1 dy _ 1 a"—2a" " b*—a* (a*—z*)(b"—a?)

dy dz §  do & >
| dy __ (a+d)(ab—s")
IS p— “  (av+)i(b+a)i(a—2)E (b—2)}

dx x
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85. iR 2 MRS
Yy=a" | I PP
log Y= loga
Ry A S
gy =loga
.
- e log a
(XX VIII] d(?z) =a”loga
e
a=10 F v v log 10=2.302585 +ccssvees
(XXIX) 100%) =10+ (2.3026)
(L
a=e F v
[(XXX) d(e®) _ =
dx

u # v JpREF NV F

(XXXI) A7) gt
dx dax

W = B, A AR~K 7 v

l ge’dx=e’ +c
!

|

| ja"da::

‘ log a

B (1)

O )

Bl (2)
(f%)

B (3)
(#%)

B (4)

(%)

|
‘ L

y=esz* 7R ea,

log y=>5z*
ST By
To =10

log y=x2log =
- U
oy =log 2+1

y=(22* +3)10*" 7€ =2,
log y=log(2+* +3) +(4x—1)log 10
fl'y_ v

Ty da _2¢I:3+3+4"10g10’
dy _. .- 4=
“d‘é* —y[%: +3+4~ 10g 10]

=4.10*" (24 (22" +3)log 10)

56”{1{3 7R A2,

sy
b

cdu

Sr=wu F AT da

Iﬁhfh:': —;_Ie“du =‘_%_e“ +c
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() o TRxa, 45%@7 P, W, FFE7 005 + v 7 THBHN 7@ =1
3 1 I 5”')""’5’)”“’*1« v
r=u MxA ¥y, de=—du
iy ¢ | P,e005 =2P,
'[rr“dzr=—1—j‘rr“du— 1 . s +c 60.06¢ =2
3 3 log= ‘
W&, B v v
oar . =1
3logn " ° 0.05¢ log, .e=log,,2
# (6) %A (Compound-interest law) 0.05¢ x 0.4343=0.3010
S < ; — 0.3010
Sl Po W7 4R% r =7 50 2 882~ B = P18 7 f el =1887 (%)

@=ArE7 b2V X tLER TRIAFH TR 3,
() ¢t %tk /TRHAM? PH. »vay & M MEY | .
4P HI‘E | P ﬂﬁ E i

AP =P .r 4 r
K7 BT 5=, f.
4P _o .. ..
4 (1) (1) eb (1) e-3 (1i1) e7s" '
Vi1 ?m ) 1‘.0‘!]\?‘?2 v (iv) eix (7) e —ix (?i) e’ i
_fﬁf’_=p,. (vii) el0t-56  (viii) e3t+2 (ix) e°t+? |
ﬁ (2) (1) ab (ii) 10z (iii) n2* sI
5 dfl’? —r.“fft+0 (iv) esinb ' (v) (sinf)f (vi) etanf |
log P=rt+c (3) (i) =aloga (i) log(loga) (m) logay/1+2* |
$=0 -"-m’-" P=P, o G=]0an *)i’a»‘t?g F 1l
logP-—Iog P0=Tt . 1 ‘e | 2 |
P (4) (i) y=—5(e"+e") (ii) y=log(e™"+e**")
g (iii) y=e% (2 sinf—cosf)
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(5) (i) y=(1+=)(1+22)(1+32) 237
(i) y=yits+ 1/ 1—a* | |
(iii) y=(1+2)"* 86. nﬂﬁ@ﬁ (Hyperbolic function)
(Iv) y=(14a%)" ' SRR b~ SRR 7 K 2 A 2 ML e o = 7
(v) y=(32"+1)2*+¢ ?7MAE MR =AW= 27 A1,
*’E%’*}go sinh;p=em;e-x ........................ (88)
(6) |(e*+e™)*de (7)) \(e**+e**+10%)dx 2
S j cosha:-_—ez -;6 ..................... (89)

(8) j(e”—e"” )ida

(9) The sum of $100 is put at interest at the rate of 5% o T Sit;;:t.' e —e?
COPMY . . .~n
per annum under the condition that the interest shall e 4 |
be compounded at each instant of time. How much coshe _e" +e™" |
cot he =—, = "
ill it amount to in 40 years? sin Ao e —e " |
i y . T T Tl Tk S FRORR (90)
(10) At a certain date the population of a town is 10,000. P S cosl}w o, |
" and i
Forty years later it is 25,000. If the population in- ¢ +e
creases at a rate which is always proportional to the cosec hz = —. LS |
sin Az P f

population at the time, find a general expression for

the population at any time t. sinhv » & ) —c0 3Y too F /=YWy —c0 3 i
+co = FBLAVvIF=E, cosher » 1 3y +co =5FEp 2,

~& tanhe » =1 a3y +1 =578k =,
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tun
sin hz | cos hz | tan hz|cot ha: | sec hax | cosec hx
» N\
—co | —oeo o -1 -1 0 0
0 0 1 0 + co 1 + oo
+ co co co 1 1 0 0

AR BARE 2 BE X2 fnvo

(1) cosh*z—sinh*=1

(i1) 1—tank’z
(iii) coth*z-—1
(iv) sink(z+y)
(v) cosh(az+y)
(vi) sink2
(vii) cosh 2z

(viii) tanh(z+y)

(ix) tank2z

(x) smh3z
(x1) cosh 3z

(xi1) tanh 3z

=sech’z

=cosec h’x

=sin kv cos Ay +cos h: sin hy
=c0s hv cos Ay sin hz sin Ay

‘=2 sin hx cos hx

=cos h*ax+sinh*z
=2cosh*z-1
=14+2sinh’z

__tan Az i tan Ay
1+ tanhe tan by

__ 2tanhx
l4tanh?a

=3sinhv+4sinhz
=4 cos h*x—3cos hx

L 3 tan Az + tan hia
1+3tank3x

239
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87. ik 1% B~ e A il

[ v:+y*=a* L/ {FE /7 —27 P(x,y) b v £POA=0, B

}Eo_ﬂ /ﬁﬁy U bR v

__a*l g
0= o = =
sin f=sin ( 2':' )= Y

a a

€T

CoOSs 0=cos(_62":‘ )= =

Zv=8%v 7 EHRhHR

v'—y'=a® Lk IER/

27 P(xy) vy,
ZPOA =0,

l‘ A V"

u=AOPM—fHf§APM

¥
[T 5] APM'—"I V+*—a'de

h e S SFEW ST

e+y_ 2u
log—a =
2nu
B i (i)
a
b Lot r—y_ @
@ y'=a" 33y = e
P —1 -:ll_
—tm B T  essscsasiscbatiew 11
= (it
zu _zu o
€T 2 2 U
; - (e +e@ )=cosh{——&:-)
L=.1 (e;t—e—a:)=siuh(--2u )
a 2 a’
2u -43
a’ a
Y o e”—e = tan A( %::)
& — e
2 40’
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88. X ARk B~ BULRIL
Wil 2 2 Y 2 2 BARM-K 2 W

d ,_. _ d (e*—e™\_e*+e"
dx (su:hz) -d.it,'-( - ] ) 2 =coshv

[ XXXII] | a_ (sinhr)=cos hx

| v

A= 7

—(;! (tan hx ) =sec h’*z

(XXXHI) | % (cothr)=—cosec ks

(l.'tf

ol

o

o

ol

(sechv)= —sechr tan he

(cosec hr) = —cosec h:.cot hr

89. Wi I fih A% B B
R 5 30 S0 50l A~ B+ > 7 e o

Vo
RS y=sinh='x p R v x=sin hy = v 7
1
'U:*@“(Ey—'e-y) 7>

fih= ¢ THES 7B = v

e’V =2re’—-1=0

ﬂv=$:l:'l/ﬂ?’+1
BRv=2e¢ »y 2{fi7tfif=2 9 FXEF V= (£)

7 (=) ~BIFVRIH,

eY=x+ ]/;l:' +1

y =sinkh 'zg=log(e+1/ 2*+1)
ﬁﬁ: o/ 7 --------- (91)
cos hi'w=log(z2+1/ 2*+1)

(91) =R » (£) »v 7 breEd[F Y, i bF v

1
24V 2* =1

log (z—y/ @*—1) =—log(z+1/ +* -1
Bl 1 avykFwv e 28fi=%v7 cosh'a BRI 2
Bk, s RV IiTAH 2 = cosh™'z »~ = 2 AR
B8ro.

VAR =

z—1Y x*—1=

90. VX ikt i B~ ks e

" i

_Hﬁgaz)vﬁja x 2489 = -&— Yy

. - 4
y=51nh IT P A VoY

r=a sin ]ly

. e T ———
- =
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e
-dy:acoshy
dy = ) 1 . * 1
da GCOS}P] :ta‘l/ 1 +51;h?; _V ® \°*
' Y a1/ 1 ——
2
- 1
Ve +a?
[Hj coshy ""I%:'IE-J’-)V;’;‘&:; (:t) SV wp B Y l‘fl/n
{ ‘ a 1
1)] ol e Y e
H’:v a ) VJ:’ +a'
b= v 7
o oa WAl 1
e (CO5h _a_')- il/.t.*'—-a:"
(e (£) - cosk"'—%—— JIER =17
@ (tanh“‘—i-)— s
dr a a*—u?

(#*<a* P2 - |[tankf| <1)

1y —G
(coth™*) =3

o
o .

(2*>a* - |cothf|>1)
WAAKX7Wi=v 7K MAAR 7B
jsin hede=coshe+ ¢
jcos h»de=simhv+e

jtan hedr=1og(cos ht)+e

sscc hix de=tan hx+ec

gcoscc htrder=—cothe+c

91. & I it (Catenary)

1

2

cos hx=

(e+e*) 7 ~2REH + 4 7,

245

= 7 Mg~ 7

—HM=frzrr xRk vrvlift= v 7Y s —AS
y

T r

y=—;—( ¢* +¢ ")

v a ~FMi= Y = Wt BT
~7 7T Yo
# (1) Catenary 3;=-%H(e’+e"’) 7

SlO]:f 7*} 2,

(%) (;g‘=%(er—ﬂ"’*)=sin hz
fia} i |

RI2RN7WAe 2o

(1) y=*%In h"'l‘-—%—ﬁiﬂ h3.e

(2) y=coshz.cosaz+sinhz.sSinz
(3) y=coshz.sinx+sinhz.cosz

( 4 ) y=logcos h

a

ol X
The Catenery

'v-ﬂ-":'(ci+ ¢'§)

- _ _—— —

e e T — =
-
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(5) y=tan™*(tan hz)
(6) y=sinh'(tanua)

XKW 7R* 3,

(7) jlsinthda: (8) j:coshSzdz
5

(9) Ssinh'.vd:v

(10) Find the area under the catenary —]§~(6'+6"”)
(1) From 2=0 to z=3
(1) From z=-1 to az=1
(11) Find the area under the curve y=sinhz
From =0 to x=3
(12) Show that the pair of parameter eqnations
r=cos {, y=sin ht
represent the rectangular hyperbola

w? — gy =1,

= + =
BERM D EBREXKE N

92. & X M t& ¥

ek S (2) 2 R S (2) 2 v 2B = v T AT
BF»r %y 7 0F87 F(2) 7 B_REilRE (Second diffe-
rential coefficient or Second derivative) » 4 e ['(2) +»
k=R 2, Zv=8r7 ((2) 7 f(2) 7 5—HIRY%
(First differential coefficient) » 4 7, A=+ 7 " (v) 7 1Kk

8 /" (2) 7 BEAEB A2, UTEXW 72 =v7
b, SEHME FME =W lEHRERTIE T2 b T2
Z7F 2= " FAMrRRTA7.

y=f(2) v *P_FE, B=PEHGRE

o ( dy Y d?y

——t or i
o e el ? Y

d ,d% ., d° .
dx '(}E‘_ fr at Y
—f = d"y =gy™ b ED =

™
HB=R7 5 =B 2B 7R IR = TR A
a2 b7

fly X d’y <o .e fl’:u e
w iaac i - sanl S tund

e f(x) 2 R % (c) »~lfR (=) 2 slope 73|24

c *f_.:‘ "

— S———

R —_
i
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=B —PEHIRe /(») Mgk (=) 2 slope 7F» =2, il
B= M(2) ~ghiR M(x) 2 slope 7Fe~2esF Y,

PIp IRy = U RE () ~EE TR v, BHRE ()
srMEE IR, 22 »B=h~=Z Y,

#l (1) y=%~(w-2)’+3 vl

y, /', " ZRAB Y 2R IERS

Y Y= H£-2f+3

43 y=%—(m ~2)* +3

1 :
3/=“2—'(-""‘2)

3{” = =- 2

y'"=1
BPEIUIRE /" ~ER T
fic = SR L 2 fiRB~ <
7o
K= v =fir 7fizN~72Zv=R=2nvy ),y 747 R
e o2 2

| gad. oF i a3 36 AECR

s . & 1 1 1

y' 4-2 2 5 0 o 2 4-2-
y'! «2 =2 "6 ' 3

249
B (2) --1—(x’—&::=-9.,-+32) F b
yl, y"l yf" ’*}ﬂw:} ) ﬁﬁ’iﬂr
(%) Yy =—:—r—(m’—-3u:'—9w+ 32)
iy =—%~(w’-23:—3)
y" =-%—(a:—-1)
/7 D
3 /&
. |
Y= VA
|/
XK= = =firz7({7/M ‘1
~rZvamar y, ¥, f
yl" 7 FR 2a l/.n'.'k / ﬁn ¥ e y:-g
r

R e S R TR TR, R S T TR
W R 0 D g
v jasilA - R - . i SR L Taly WY PR
4 Py T N v sw Ay 9 9
3 il 1 3
/Y 9 3L 0-25 -3-2. 0 37 9. l
Y -3 0 3
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EE=R7E P,Q =f7 y=0 Frafk=M v 2
PLQ' =7 = fih=%»,

~ 285 R(v=1) 27 » y=—3 Frilk=2v=Nzr
g v E/® R »~ (1,-3) +9,

X=HfR v E2B R =27~ =0 Fr 5l =ifi#

M= (e=1) » z i+ 3§ RM(r=1) =Fgn= 17 Rre2
DT RIEE = 2ihikid > WR 7 B2~ =+ 7,

(RE] HAR y=/(=) =%+ 7 difR o, ', - 7 it 7 35 AR

(Derived curves) » 4 7,

Bl (3) y=e  Fm b % :Lf 7R 2 3,

f{y - ar
[ﬂj f’.‘l' S

iiiiiiiiiiiiiiiiii

;I“g ar
I"-’.’I‘.'"

b = ~ BRI = 3 59 AT 5 2,

251

fi] 5
X7B, oy y" 7R By iR 7®%, v 7 slope

BNV TRA 2,

(1) y=a*—-12: 47 (2) y=-§—(af-—3)’ +5
(3) s=64¢{-16¢° (4) s=(t—1)*(¢t+3)

(5) X/ sk, 55 » PtUiRB 7R ~ 2,
(i) sinz (1) cosz (ii1) tanz

b

(iv) e (v) e (vi) log(1+=2)

93. ek b k> i B
PRI u=1(v) »HfRBR =7 v=a Fr b % o 78 4=
=®o 7By o8B dy FEF v % = 2 BT R0
(Increasing f.) b4 &, Zv=jfv 7 dy #*f§F+rvr32v 7

W Vi B (Decreasing f.) + 4 7,
Wk B =H 7 » de, dy Ie=F F » vk = Au ~iE, #®v

dr
72 7R EE= v 5
- (%-— =tan 8=E

==/’ r2=a FArE=RrrUif» = fifh + + 2 0
~»R=v TR = /B LRy T,
Zv =R 7RHEB =T

dy _ N
_Kutan 0=£

PR ———
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k=018 » «~ v+ =2 0 ;xﬁ‘m:i«"i’“ﬁﬂy 8= 7
BFv2 79, li=Xk/EM7H

rh;

(A) ' FEF v BMEK

(B) Y AP ROEE ¥,

94. Tk K X5 St Mk /)

e y=/(x) 2 WR»FE 2 fn*lgr~r % A 3y P,
~F /MK Q. ¢ Py bR AR S ER =~ 7 MR
8> vifle=> 7 slope ~E+ ),

~2 P, a) Q, =~ MK P, v Q. iR BF
= 7 WP B+ »viff=> » slope ~f1+ v,

K=M P, Py Py Sl W=+ W= v 7 207
P KES (Maximum points) F 4 &, 2% 2 8= 7 » iy 7
fifi Y1y Use yg =ovre ¥ 7 W KAft (Maximnm value) F 4 7,

- 2 gk 2 B0 = B Qo Que Qo - 7 R/ 5 ( Minimum)
point) kA ez =A@ Yo Yo e o 5 7 BAME

(Minimum value) » 4 7,

253

B =2 Y B2 7 i 2 Bk fil B /il - 300 8L 2 R KA & b
7R 2=/ =JEX v TRMKM v, > B/l Yye 3 VTNV

BT EERAR T, BRI 7 R 7

Fefii (Turning value) r 4 72 + 7 Y,

BRI =127 ik » L5l 2 VT =8 ) 88~ B » riffk =l
Ry ~E29R=BIBrIT ),/ ¥IE=2 ) A=
=BV = I XFIBY IV X, =K==
¥=0 F 9, [FB=HA- W BT LS =Bru
MiAfR= Y (3 VFE=2BIBrIrS=vF V=0 3, &=
BY=87 »~ y=0 =v7 /M=Ky MO~ » W=

W"‘*—‘&-ﬂ-w s T o o SEL N N T A A .. i S

> %

95, BAES A K WA

Al=R7EP Kk P,

=7 iR > 7 Gl

WL EV RS s

&/ N7 WY (Point .
of inflexion) » 4 7,

R A= 8 P. & - “
Q=Rrrrimz v 8 &”i 7’Z
=R 7 MU H « fif =25
ITFvesr 7y,

- = __-_—_-._-___'_-‘W




2B K JnxLy i anrg7

RE (cusp) v 4 7, i "
i
R =7 = filh = FATX~Eif 7 v W

mlligR 2 W57 FEREE ( Critical Op—z—] X
point) b4 7, fit=FRRE A

= ~BAM BAMRBHYISLe/ =y kR »F
b TURS 2§l =FPiTF v FTRMA V2 b > R,

96. ik PEERE b 2 BHER

(A)  FKE PRE f(z) » 2=a =FRTFmAKFVIF X2
) B—RER f(2) » A(r=a) =R7 &

E(er=a-¢g) =7 »IF, !l’ A
- @
Flz=a-¢ ) =78+ F» 5k m
= E fai
f'(a-g) >0 b |
f! =05 +:e0.+(92 F S he)
P (a) ( ) E I‘I r
fa+ &) <0 . xF*\

9, 7 () ~WYoprBr Fraf= 2 2 Hifk E'A'F
~FETH&R>T Y, H=B_0EK /"(z) » v=a =RFHF
Y o

S'(a) =0

f"(a) <O
(B) Bl Zv=RKv7@
f(z) » =0 =7khF+»+
¥

oy

flb—e) <O

f'(b) =I)} ...... (91,)

f(b+¢e) >
P> 7B /'(v) ~HBMEE= >~ 7 7 lifk GBH' » k5 ih
Ty B RE S (2) » 2=b =RIEF V.

J'(d) =0

J"(d) >0
(C) HBbEs Bk f(«) » v=c =R 7B MIBS=>7 > /i
=07 EAMMRFT» + o~ (Fig. A) IB—E8 /() ~B%
Cle=e) =M7FFv =l K(ea=c—¢ ) gEL(z=c+¢)
=R7k=E+",

Fig. A. Fig. B.




fle—¢) >0
i'(e) =o} ...... (96)
e+ &) >0
W7 7 B /') 2 Mg K'CL o w=c =7 = =4 =,
o= Bk B /() » v=c =R F=v7, BEURK
f"(2) »~EF 9,
il fl(e) =0

‘f" (G) =0E ...... (97)
J'e) . 220
BIES C 7 ik =Ry Tilhigk+ » + % (Fig. B)
f(e—¢ ) <O
f!(c) _—_0% ...... (%)
flle+¢e) L0

2 7B /(=) /MR K'C'L! o 2=c =7 » =)=,
W= WU RB (0) > 2=c =RIF=v7, BEMHEK
f"'(x) ~8]* 9,
J'(e) =0
_,’H (c) =0} ...... (99)
f™e) <0
(D) #ekES v BbEs /'(2)=0 2] x 2=a F 71+ %
M{a)=0, f"M(a) =v 7 ["(a)<O0 ¥ vor
S(e) » v=a =jR7lK=yv7
J"(@)>0 Fvovkghr Yo

257
UFXxE=W7 7t v 7 B =HPX 7 ik =2) =z=a
FTRAYIBEVF ¥ v f(a) ~BK Bbh=7T7Xv 7k
=YX HFER=-FY v=a FRA¥FIELF v [(a)
~FMll, far F vy f(a) ~BRRIET Y o

97. Fk. WM F Kk 2 vl

(S5—ik) BB /(=) 2 8K, B/Mli7 R 2 v =2 f'(2)=0
FrhBER R a 7R 2, a=a 2HiR=F7
() M=) ¥»E3 VA=K7 % j(a) ~FEK
fift . |
(1) /'(x) #fa Y E=4%78xr % [(z) ~Fb
fifi
(IIL) f'(») #WATRF» b % f(z) »Rfli=FF X v 7
z=a F i~ o fili=F45 5 U7 A= Bl
)
(2)=0 FrERAF¥EB27BRIFAV XD )
He2 /=237 geIFrasx
(=) [f'(2)=0 7ikx a Fr 1+ %
(IV]) /"(a) <O + 3 f(a) ~ kKAl
(V) f"(a) >0 > 7. j(a) »F/hil
(VI) f"a) =0 #» 1 % P.256 (97) (99) =3
fM(a)*F0 F vor r=a »BliE
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f™"(a)=0 ¥ v.¢ F.256 D) =3 9 7Kk, Bih 7k
i
B (1) f(=)=2°—5a *+5a’+c* (a>0) /7 Bffi7R* 2,
() J'(v)=50*—20az" +15a"a"

=5¢* (2 —a) (x—3a)
Fifi=% 7 » 5e*(e—a)(x—38a)=0 ¥ wvepr 53X, =
? HRA 2 2=0,a, £ 2a +
S'(x) 2 2 = ()0 a 9B v/hFriliR K>+l (i) a =
VBT MABRKT ML, () 3a 2 9By F iR T
MEZTIRAY IR, 2 7882 vor

X | sesess Deee oo 7 TRTSPPON. . 7"
f(z)] + 0 + 0 — 0 + 0 T
mfl max, min, 3a
ﬁ::. f(a)=a5 J‘ﬁ*ﬁ

f(3a)=—2T7a® K/
z=0 BT Y.

(=) 7 (¢)=52*—20az®+15a%2*
f"(¢)=202*-60a:*+30ax
fM(2)=602*-120a:—30a*

(i) z=a =Hv7 f"(a) <O .. f(a) »Eikfl

(i) z=3% =% 7 [(3a)>0 .. f(3a) »E/Mil
(iii) =0 =% 7 f7(0) =0 f"(0)=—3a"

a=() .ﬂ!ﬂ“f Yo
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B (2) #B/ EYHEL 30cem, 20em F+ 56 BT Y, 2
B Yo x kY 2 FEHFEZ2BAZUIVEY, BY 70

FEF*BIEI 2, B2 AW IRKF v 22, 1

VFEmM2 X J—% Y7 p
% EWE’/—& & . Lj..l__
KL 3, T By e o

=
I

() By EZr~xEHhE 7 —i _Er

JEY7 2 p 2 v
M2 B V=2(20—22) (30-22)
=600 2 —100 x* + 4a?

(dV

— - =0600-200 x4+ 12 2*
o

dv _ .

Ja =0 2B 7

r= 25i35]/7 =39 or 127

W= 127 ~fiji=F e X~ +F v 20em 3y 127 cm
? 2450 BY 7 v v biBo X,

k=R VIEFlE,—%» 39em + 7,

(=] =7Zvilgzvor

-5 N ..
x 12(+-3.9) (*“‘12'7)
_ dv
SRR MR > —a » G+ K~

=39 =7 V » max. value 7 } »,
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(i) =72Zvilgavoy
1 ud =—200+24 2
dr?
d*V
(_f?n!'- 2 x=3.9<0

=39 =7 V » Max. value 7 p »
Max. value of V=3.9(20-7.8)(380-17.8)
. 1056
% EHE, - 39em = v 75 B~
1056 e¢.c.
(RE) TEFERIE =47 » Max. » min. v n »~ (f—ik)
(B—ik) =7 exbr=WFrva2tr B,

) (3) A piece of wood is in the form of a r:ight circular
cone, the altitude and the radius of the base of which are
each equal to 12 cm.

What is the volume of the largest right circuler cylinder

that can be cut from this piece of wood, the axis of cy-

linder to coincide with the

A

axis of the cone?
(fi#]) requ. cylinder  Ji§ 7 2BfK
7Z o BmY? v, #8567 V r 2 v

G

AN

X= AFECoaAADC
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FE _A_D
2C DO
N 12
12+ 12
y=12—=2

=nr*(12—2)=12 7a:* —na®

g-'—"z'i' nTe—3r 2? =3 2:(8—.1.')
dV L &
HFEk -—=0 sHttv7 z=0 or8

Mrv= =0 M=
;!-_-:8 ;\*L }Vﬁ" 9 o

[g_*] =8 /ﬁ]&:ﬂi :%Y.— iy S 7T o

K TP S
dx

( g.:f }I)tzﬂ <O

=8 =7 V > max. value 7 } &

V=256 ¢.c.

(88 —)

Bl (4) HAES 2 REAL L ¥ 7 350 7 b I 7R o

WAL A F 87 ICET) 2 ) b 0 F =7 Kkep 72}
¥Z=R+ 2K 7t P’ »~ Lord Rayleigh » A= 2 9y %/
(1%

!



!
|

- - i, RN S

2rsinf . 2sin f
Pr=p_ <800 .
44nmsinf Pl+8in0

as= P ol A FrdR7Zv=Rili 2 Fif =Kk 7 2
S IZY L.

P=2"Y ¢*A
g

By v=%Z (R, #), w=K—3R,HER{ (%)
A » (FHR) 79 r 2

x

e

=

M BO7E G =7V v, BE7 0 2 7 @i v 45 =
BRAAK7EH P v M@ e~ v 2 v EiiEEs M b =

v o

»

2sin
M=P'xl=P- -
X 1+Sin0xacosﬁ

P_}iin ?ﬂ _
s oy

i ¢ ~ME  BY=Hyv 7k 2 TR*¥TViK=27 K+ Br
=278, k=M » 0 7B v,

dM . P{? cos 26(1 +sin 8 ) —sin 20 cos 0

df (1+sind)?

dM
a0 =0 TMx5

2cos 20 (14 sin ) —sin 26 cos =0
(1+sinf)(1—sin #—sin*6) =0
sin = —1
sin 0= _lﬂéyg
R~ P =5 v v i =

it "1*‘2'/5 — 618

6 =38° 10/
fk= 0=35° 10" , b *MMESE M ~fk =2 72 v Ll
REA v H Y 7 M R ANVFY
€7 7 Kl =17

# =35°
U7 MR r2ve s+,
Bl (5)  TMY = o A BREHIT 10 ik~ SR 2 =5 = Jh i =,
R Ry =57 g0y 10 WE 2 KK = 7 Bl 2~ 2 h50F 25
/AR 7R ) v 4 7, W S BMEN B © 7
IO 7EA 4 70 =27 ER 7 ERARD = £+ BE 7 KM

EYIR < 2,
CRR) AR 7R F=k>  (k ~presh)
25=k(10)® s, k=.025

Wy, —WEh 2 98 E=.0250° 4100

Wy —WR2Er» =T 2% C
C= 0.0254* +100

(A

=0.025 v* +100 v




dC -

- 005 ¢v*—=100v?
v

4' - (’C— =0 3 m T

v

p?=2000, v=;"2000
=126 P /5¥
| o 7—i5M 2 8% E » 150 [+ Yo

I fid] |

Ko mK, Bh7RA 2, (1-5)
(1) f(x)=2¢*—=8¢*—=122410

(2) f(2)=8+6r—52*

(8) f(a)=2*—6:+8

(4) f(x)=a*-32*—92+9

(5) flry=a'+2>

(6) 100 7 —Rpv 72 782723/ Mghr7v 2 b
A, TR 7BMIRA 2,

(7)) ¥ S0em 7 §t@=7R_KIrHETEIY 2, F
B ERYIRL 2,

(8) AT VZv= 2N BFIM~ 2 T2 H RS
+)9 42, VIBM7R A~ 3,

265

(9) =AM ABC =RFEAr»BXEE > W 7R * 2,
Ay AB=b, = 7By~ h 7Y b =

+ MP CH @
(M%)  Ag=Cp' 5 =

- —;{:—(h—v)
JEE R A=
dA 1

HPEM 5 AC k7 A ayvC=moiW2r*M»y AR
C=7wrvirxFrrif=>/Pp8=MN7 max. = F v =
M7 Y.

(10) Bl +=1 = P A A SRKIETE 2 TR R £ 9

(k) WE 2 EHiE A=4ry=4 :: et —a* R

et —a* 7 max. »Y v7 Py 2N

vi(@—at) ) max. =%y v I ANETF ),
(11) v*tyt=a’ =22+ FRIBE 2 @WH7R # 2,
(12) BB e+~ 3% 7 @IE (Strength) ~fF v, JE¥ 2 Z3

P Ri=3E0 2, MR *;wﬁfﬁi d Fr M2 ) e

WMEAPIE, 7Y = R CEEY 7 0fi] = 2 ~= % 0,




(13) Wi 36+~ 7 Bt (Stiffness) g+, By, =
Fr 7 R=EPI 2, BRAE 2R d F AR ) B
KMBEZHANVBEE 7 R 7 v =2 7GR CEY 74
fil=2~2% 3,

(14) PR FrBR=PE2r BXEMN 2 H¥E, By 7k 2

Fo
(WM) B8, ZRE V=) =2ty
PRV = r*=R*—(y—R)?
=y(2R-y)
V=—%—:_J;’(2R—y)
IV
—';,y - -;13—7:[2y(2R-y)-y']=0

= ) HRER 2 #t o y=—:—R.

(15) 4% R +»3= A2 m R AEH 2 WG By 2R
Trap7{Fea, 1/3

(16) RS =A% 2~ BAAER B2 B~ Hik, &5/

_'—i* Fryva b IBea,

(17) P& R 7 3k = S5 = o [ Gk
M7 BghF+ve, By 4R = v 5
JAES = B o v Aty o 2sin"‘% +

2 b7/,

(%) AAOBcoAACD
Ch OB
AC A0
R r
BN : = e I e,
V(z—R)* —=R* =
s xR
V #*—2Rx

R = 2=0 .;-mg.-aﬂ-hz'ﬁ: r=4R

(d®*V
[fl:r." :L=4R>O s w=4R ~FrE E'}P‘ 7 Yo
. R l
sin = et o
X ﬂ ['L-—R r=4R 3
' 1
=S '
& =sin 3
i = 2}3’=2Rin"‘__;

(18) % o Fr K=Y BE, WA 0 R R 2 W5
TR BRABKRF 7 AHR 7 Wk 75> b2, =




14

- — . B —— —— - ——— p— B I —

e

et A R s g B

B8] ) v~ % J[JIE 2 T 2 4~ 201 -é—'[/ﬁjzr radian
() 66°¢) = b 7B+,

[%ﬂ.] ﬁ}‘l’/ﬁﬁ? V PR Vv

1 2 2z -5
V-—_—Hé—::r va:—r

Fig. A.

(dV

Jr_=0 TR L v

r=0, or :1:1/Ta
3
Y 71 F R v r=1/ga

d*V
rfr .

/ ﬁ% ?ﬁz Lo "

f=-l/_§_a »n ¥V 9 max, 2R

FR¥E 7 47 0 radian p 2 v

[l{E ABC=a(2r—80) +scseureees (Fig. A)
SO N & 3N
‘T(VS a) ( Fig B)
a(27—0)=2- -
( ) 3 a

-
|
)
—
—
l
[ l'u‘

j. Jr=2(1 ——:_1;--1/6 )= Radian.

(19) FERWA B~ 5 v 2 v xBERE, M= 7% 7 fb =
AWM= )Y VIR J T I = 2 k2,
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(20) "'Eﬁﬁ Vv ':"l"’]ﬁ_l:-'aﬁa'ﬁﬁﬂﬁ?ﬂsy:y/#ﬁ
7&*‘*%"“"”"“%"¥E}5F@7*nfﬁ]=.z.-¢4—-

7 o

(21) %@ R Freg=AE»r k- B=72  hEk 5

K+ »~[HSE 7 E*)'.n—g—R T2 IH/ e,

(22) FER IrR=REAr W, A =7 v 7 WiFEH 2 &
K+ A7y V2R = v 9322,

(23) [HSE=AE2r [l K7 > 2 Wikt 2 fokF » 1 2
BY7 R 23,

(24) —@ Ry 30em FArEHE/ K7 ) 2 7 PEEK =y
EHEFUMIMY 7RIV e Y 2 B RAF 5 2
Y h A GIVMAM < XEH 7 — TR 2 3,

(25) ﬁﬁ=ﬂ#wﬁﬁ,afwmxgm»]/i+

-
» TN

Plarvers =
7~ Ee~ 2=a FrrEFMFr 7B
(26) %RV F 2B~ [ 7 5857 = DU — 255 45 %
R EH—FHK BB, - FI v 47, Rek
W =V =~ BRI 7 B 7] = 2~ % 2,
(27) JEH #IEHTE = » 7 4R 180 KK+ 124 ¢ 7 ¥
» =W —RT5K 7 R B[ = v 7 JiKiHi » — 255 %
RA~SH> I v4 7, el =r = BIR e
K7 &y 7 ufif = 2~ % 2



-‘:-—'u-.- =
e

[ I——
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(28) WY TX/8B%7Y, HETH-MEX B2y 9%
EG=7) . meR*2F7Prv=r87F7 - #MX~
ﬁiu:'iv":*ﬁo

(29) ik =2 Zho¥— ~HE/ =F=H =
MEs bR, IK¥E, EIEMEE C MF AN T AN
*REBFEH T EM 2 KET R~ 3,

(BEAR) Ty 7 EE7 v r 2 v BRI » 2028 5~
»av FY, fHy a ~EHESR
v—o=HEWF UMY 4 E < 15 B

Bo= ™ o rR AL MY A -BAr Bhs

{

?"‘ "'yu

sEPA -~ (
7Etﬂ'\!ﬁ'ﬁr+ y®°

ar?
v—C

) Wl F e 2ffi=v ¥ FRpF D

(30) ¥FiMy7iEirey arfiBEY SEF={H2rrv=e
P2 YR+ il = Ky 7RI 27 2R

WY 2 Y Y —g—m WHFrvap 78ea,
(31) YiMk=Rr r»ARNBEHEY 2 =F=1kp2r =

PR,
AEY 15 | x—uf 4 [l 2 B 7 4,% i
TRA, wxRMbs BRI v 70§ 12 [{7E=x + 4 7
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PR 7 -+ 2080 1 7 fiiihE =B 7 r Bk IR 2 K Y R
’j‘}’m?*} F,

- (32) LA 7EE er v BAFEEN T +» 38 (Chain
belt) = =39 7 KWy 7 (4 = » = ~ B/ EJE 7
f]=2~2%3,

C e 8% w=ﬂﬁ/ﬂ&/ﬁﬁ=gzﬁﬂﬁ,&:?'}ﬁﬁ
o e=MRRR MO
y=WH=a vMEE + 2 vor
BODAER S (Centrifugal tension) C= """

Y .
Wh7E 2=+ rE /N7 F b2
1% k=Y
F=T7-%"
g
Y7 HE LI rvexBih P o
PumTy—%¥Y
Y
P 79BKF>Fvam e ~FE,HEF ’
ZV?*Q- L U == __’]_l_

(38) Hr bl A =Hr »H)%
~XW=2Y M r 2 B
=5ilkBy, r b A =fx
MIERRY T 2O 2R =3

plzrver b2,

R ~FRaFEELE R




f 272

|
-

JE7HeRF 7 & 2 v =~ Ll F o B = TBIG 7
MIFZz~%2n,
ARB=kZk)sadb+rr»BRBIMIFFr2Y, AB
BERIE 7 T v P 7L TR 2 3,

My AB=d 1 z,

Emmj PR IBET7 I b 2 v

(35)

(36)

.’ SOl b

: - ¥ (d—a)*
o1 - 2a 2b
de a? +‘(_(i'm-_-;t.:)_’

AP:PB=¢a: b
A man in a boat 6 miles from shore wishes to reach
a village that is 14 miles distant
along the shore from the point

nearest to him. He can walk 4

miles an hour and row 3 miles an

hour.
Where should be land in order to reach the village in
the shortest possible time? Calculate this time.

What must be the ratio of the

height of a Norman window of

given perimeter to the width in

order that the greatest possible

amount of light may be admitted ?

(37)

(38)

(39)

(40)
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A piece of galvanized iron b feet long and a feet wide
is to be bent into a U-shaped water drain b feet long.
If we assume that the cross section of the drain is
exactly represented by a rectangle on top of a semi-
circle, what must be the dimensions of the rectangle
and the semicircle in order that the drain may have
the greatest capacity.

(1) When the drain is closed on £0p?
(2) When it i1s open on top?

A circular filter paper 10 in. in diameter is fold into
a right circular cone. Find the height of the cone
when it has the greatest volume.
It 18 required to counstruct from two ecircular iron
plates of radius @ a buoy, composed of two equal
cones having a common base, which shall have the
greatest possible volume : find the radius of the hase,
In a submarine telegraph cable the speed of signalling
as varies 2* log %:. Where » is the ratio of the radius
of the core to that of the covering:show that the
speed is greatest when the radius of the covering 1s

1/ e times the radius of the core,
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98. e 2 sBPR (Curve tracing)

{ HRA y=/(2) FR~Fvzerprx, MR W 2 7
i M7= PI8(8) =R7k~2rmr, AWK = =Fhiz
| 7R~ 2Zv=HE2r y I 7R, 2%/ 2 y 7 k"
| PAMIST WA T o= T F v e, iR 2 EE
| e Bl~oc B KRS BbES BRESI o R v o 2%
| EETHRTRA T 7R B2 HWMES Vo ~ 2 BWighh N
W RUMReWEM 7 B v 72 7 i 7 &2 HHE = o

;' F7IEHET )Y o
1
B (1) y=ga'— e —4et10 FrlBIES .
,.' (%) y =a?—8et—d=(a+1)(2—4)
y"=2.r—-3 J
/ Yy=0 3y x=-1, or 4
" 3
"=0 \ -
Y 2y z 0
3

*:’" y )ﬂ) &= -114'12

BReitBie B xli7 A v 7
y 2Mi7R AR F7HEN

P Ledy &L 0 _3_ 4 6
y |94 12; 10 2% -s_g_ 1
y | + 0O - - 0 +
Yy’ - 0 +

max, infl, min,

B (2) y =32*-12:°+50 BRI EY,

(%) yY =124* =86 2*=122%(2-3)
y"'=862*=T2z =362 (;1;—2)
yl =0 3 y T =0 or 3

y'=0 =29 =z =0 or 2

X=yX2 = -1,01,234 7

Av7 y 27 R2 v~ 707,

@ -1 0 1 2 3
Yy 65 50 41 2 =31
A g
|
y" 0 0 1t)
infl infl. min,
i 2|
X g7 &7
(1) y=22*-6x+5 (2) y=—x" +32-3
(3) y=2*-32*+45 (4) y=z*—22° 48
1
(5) y=a(z+2)° (6) y=a*——
(7) s=t*-2t+10 (8) 8=6L—-16¢

e —— ———
R

T .

L
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99. 4 3k Hh ¥R

(1) 3w {AH\vE (Cycloid)
Bl »giigp L7 ®@y v xEBLE, Sr—Br 8z gz so
SHLEr4 7,

4‘*@ a "-ﬂ"’f L ﬂl-"-'-?ﬁ‘: iﬂﬁ-’-ﬂ'b 5, = )ﬁ',ﬁm (3) hifawWl{AHAnY (Ep]c}rclmd)
=JFE O +r—F B P &2 cyclod 2 FERX K7 v LD FrHEyERae FrEHE=BeT@Hryx, V2

....................................

Bl=R78P 728 H +—

B R vy

The Cyelold

| [ PK=[{; HK
:‘ Bl» 0 radian fA§fer v 3285 P 287 (2, 9) b 2 vy b =al
= ZNCP My &= /KCP
| _ £=0ON—MN=gl—asintl =a(ll—sln ) A P )R (,y) PRV
| ) %y=NC—KC =a —acosll =a(l—cos®) -
(i) » 0 FHABB AP WAHBER -+ rifk=Zvay 0 z=0M =ON + NM

7ER v Wil 2 W R R T~ v, =(a+b)cos 0+ b sin{ & —(—5-—0))

(2) €420 (Trochoid) =(a+b)cos0—bcos(0+ ¢ )
| Cycloid =47 [HEE %7y =[IA 7 X~ 2 B2 & =(a+b)mw_bcos(”_%ﬂ)
ZE7 €AZVE v4 7, 22 BERBRAR X2y,

r=all—=0hsmnt =(G+IJ)COS # —bcos (azbﬂ)

y=a —bcos

(it)




¥ Cardioid | 7 %5 % 7 (7, )
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—_—
i

y=C(a+b)sin0—beos{ $ —(—5-~0))

: s ol bl
=(a+ h)sin @ —sin(" }; ’0)

ﬁ = Epicycloid ¥ 4 jiﬁj:’t.n

a+ha)

r=(a+b)cos 0 —bcos ( 7
)

(1)
y=(a+ b)sin -5 sin (9%3_'0)

F Vo (iii) =7 a=b Fr + 27 H~ ¥ ¢ (Cardioid)
A Z, Y7V 25BN >Ry,

r=2a cos 0 —a cos 2/

| (iv)

y=2a sin 0 —a sin 20

bA v, v EhRR
(v) r=a(l-cos ¢)
Fye (P13 ) (2))

(4) RBRWiF3v v (Hypoeycloid)
EwEE »EE 2 AR =87 7
Px, =22 8L, -2
BEh7 BeiEav{sve b4

' 7o 2 72 HFEA
(i) =7 b 7 —b v8B~2x =

7 =%y

— — —_—
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(vi) z=(a—0b) eosﬂ+bcos(9'b_—bﬁ)
y=(a~b) sin 01 sin (*5%0)

(Vi) =R7 b= bR v y=0 FNifRLF A

+T R b=_a¢i._ P A VLT ’\ )
: m=ac0530 2 2 2 ‘
(vii) or stiyimel
y=a sin3

(P.146. @ (1))
Z v 7 Four-cusped hypocycloid 3 > Astroid + 4 7,

(5) A& (Logarithmic spiral)

y=ed (7,0 - polar coordinates)
0=0 > v.r =1, 0 ¥RXPE=W .~y
I 2 fc = AR~ SRS 2 R Y = i 2 iy
-~ Sl I
O ¥/]+rrvvx- 7 v Frvrfe=25
oM v, =) it 7 logarithmic
spiral + 4 7,
(6) y=e-z* /iR
2R v G =7 symmetry =y 57 2=0 F v

y=1 z ey »~We I RWB=Fr=4F »» vilk= « H
N Asymptate + 9 o




‘|
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(7) y=e""sinhr 2 F» AR
= Mgk 2 v 24l e b 3
sinbe + 2 fi{=v 7 sinbr» T
1 ¢+ -1 +/7M7 oscillate
2 = = 7 kR

y=ﬂ—-az }. y= _ﬁ—ﬂz } ﬂﬂ ?

oscillate = n

LY
£

(8) y=e* 2 2R
= iR > -0 F ¥ b ¥ y—doo,

2z ¥RFM{2Y 0 =HEEA o

VxR y—0

i) ~ »* m=1010f) F v y=81000
— 1 * S --1000 1
o 1 R e

== 2 il =0 =#87

Aiiff (Discontinuous) + 9,

+ 2 T=dcn F v -—:_— —0 y=1 fit= y=1 » Asymptate >
) o

A e

8 % B MR IPHEAR
100. 4 H (Curvature)

thig L, =% P, P,, =Rrn»
g, +2f7 44 i PP, 7
ds vavse 49 L P.P. B
=7 il 2 il 2 Y 7 K-
25 =27 BYMhFE (Average
curvature) p 4 v, B P, »E§

P, =M =&k v % iR
lim . L AR, (100)

NS ~—»0 48 ('8

78 P, =Ryl (X)) v 4 K F230%=7K
J*Z’ﬂ}zo

fic= i ~R 2 1ey =By 7 AR Fi 2 B 2 WE TR

REI)T Ve

P P R i e

B~ ~FE R F A =R7 ;




=07 MR Ef v 2 Bi=R7 e —iE= v 7 P/

bl s

B-=-Fv,

101 4 & » 22 R

Mgk v=/,(2) L7785 P2, v) =Rr»UI» = v 26
7 @ FA v

ly
t - —E-‘ — == /
an 9 dx Y
¢ —tan—! ( :[l;;{_ ) = tan"“y’
fl'y
d¢ _ da? Yy

dz 14 ( dy ) 1+y“
X ds*=dx* 4 dy*

s
. =—a/1 'z
'|/ +- r!ﬂ: ]/l+1;

da

dg d*y
_r_{¢ h dr - dx? - y'"!

(18 cly ]5 1233
cla: [1 ( v ) Li+e J

H

K= .
[] +yuj-g ............... (]02

102. fiff 2 [ b 2 P 48

Mg v=r(2) L2 —EP =R7=22 =0 vA22Zv

Mol 7 A2~ H78 P =R »iliZH (circle of curva-
ture), ¥ 2B R 7 i FK (Radius of curvature), ¥ , [H]
2l C(X, Y) 7 fiZ P> (centre of curvature) » 4 7,
M= 7 ~ % K ~FEK/GERT» 2=

mapm R=p = CF o 109)

~2MhFE DS C 2EE7 (X, Y) b

A v

X=0l=0M-HM
=r—R sin ¢
Y=HC=HN +NC

=y+Rcos ¢
R = tan @ =/
sec’@P =1+tan*@P=1+y'*

cos @ = L , SN P =

Vity V1+y®

Y (143 )
ylf
1+y'*

Y |

X=a—

X=y+




|

iR 2 HRX v BHERR=7 r=7(0) *rH=»

Re—3 (rr4ri

K rPERLrt eyt ||

7Y,
HEFE R ~AK (103) =3y o' /FR=-Fv *58k=
(1) ¥">0 # v R »~iE = v 7 i~ L% = (Coneave
upward)
(2) <0 v R »~fj=v 7t~ L= (Convex
upward )
T2, ¥viFrlAR BRI B~Yvrlk=TEFrrEI b 2
VarB2 Y7y RAK»

R= (l'l'!f"}!
L

- 2 DA 2 2 =7 (-""'-’{ ) nlaloy?pd

WAL =2 v 7R T

R__:___l__ or K:ﬁ” .............................. (1()8)

,””

b2 =2 b By,

B (1) il y=, = 2 K R Re C(X, Y) 75k # 3,
<z (i) 000,0), (ii) P,(2,1) (iii) Ps(4.4) =R r 17 R

A 3,

1 1
s | Nt
oty e e
1
) 4
.. K__ e 3
@i (4+2%) 7
(i—)
3
=1 _(442%)%
P
&t 1
pa SRR @
.. &
2
et :
Y=y+ 7 3 —'—3; + 2
g 3
(i) B0 =7~ K=--,]2-, R=2 X=0, Y=2.
(ii) B5P =7~ K=41é. R=41/2, X==2, Y=6,
1 -
11 P aPRpr»» K=——__, Re¢l 5 X=-16, Y=14,
(u) X 7 10/ 8 0y
B (2) WA —o+-5=1 E7BP(ry) =RY PR
7R A 3,
~ % A,0) Ry B0,a) =Ry vIEPET R 3,
! Rk B UK T 548 )




(%) ;,+ Y =1 IRy 7

bl

b’ ht
- o
Y aly’ Y a’y:
r (a*y +b2: )3

R

o _at

[R]A— a ’ [RJB—“b‘

B (3) HOCEMRES WK ) S=-[MEK=8 8 2%
MBL? R4 F Zv2rBr=Bnili&7 M7, = 0l
P FEB=ER 2B IBIr 2 Y,

SRR Y y=—5=° F 7+ XFHH (1) B (3, 9) (i) B

(2, g ), (iii) B (1, ; ) FEBAM X, By WML —

M=t ) KEGm 7B L/ BE7R %3,

(R)  y=—pat

K — 2z :
(1+2%)%
(1) (3,9 =7 » K= : 3 radian/mile
(82)*
= 28' [yl

287

4
(17)3
=3°16' |

(i) B (2—o)=#2 K=

radian/mile

(i) B (1,5 ) =#7~ K= =, radianjmile

103. # PA &% & 1 D %

R v =%4ac--- (1) k78 P(x,y) =87 » th#Erpa
LS X)) »
X=3x+2a

V. 4 P yilipet 7 W2
P2 ~Zv=HEs 8 C =T
A7—v /778 2~y, =7
WiAR 7. = 2 W AR
(Evolute) + 4 7, 3 = Fifti4ni
7 = 2 thi 2 WPag (Involute) + 4 7,

(ii) >~ Evolute /X5 C R 7 « 7 iy v 7K~ 2 ¥
= (1) » & 7 parameter p x» Evolute » Sfiili=v 7

(i) Ly (ii) 23y xy ?fﬁfz v

4
2 -
L 2ia

(X —=28)° oorseresscrsooees (iii)

M

T e .-



— . — : ---‘ | . - - - .‘j.

238 289

fk=Flhg, O+ Evolute Yt ~H=Ff{HFr»»lk=
&R 2 34~ Evolute 2 g7+ 9,

Z v Evolute » ififij k% » HERF 9 .
—fi% = &R y= f(2) » Evolute 7 A »
X ey (1+3*)y

7 - (B) Rim(2—X)'+ (y=Y)* cooorerrrimmninini.. (i)
1+ r': ------------------------------ (109) ﬁﬂ)ﬁ&? | R P
Y=z-—"2
Y RiR=(2—X)(do—dX) + (y—Y)(dy—dY) «-orerees (n)
=¥7 pyh Y 7 e=7ERyIfER v EREE ) SR P
ﬂ?ﬁd ¥ o d p—X 64
d_::’:= ;—Y b (:v—X)f[.'t.r-}-(y—_Y)dy=0 wee(111)
104. Evolute , #: & o (i) 7 (i) =fCA R v
N e T L 5 P S SO (iv)
(A) JRilgR 7 248~ Evolute / g+ v , V(#—X)* +(y-Y)* |
(B) Evolute yiK/ B¥ Kl =7 Zv =4 =, Filhi 5. dY 1 _ y=-Y
) IR =%y, Y., an
dX+-3=2 ay dX +-32.4y
(M) (A) Mgk y=7(<) 2 Evolute  HER i = Sl X"
*)y' 2 i E y—Y \* Y -y"
X=g — (1+::: )y o Y:y-}- ]+:"’ ‘V 1+( 'E—X) ‘M 1+(dX
! Y
i x » parameter + ), =1/ (dX)*+ (dY)*=ds
Rz 2
Zvy x =7 AR vy j. dR = r s; or R,—R,=8,-35,
R 8,
dX / 1 'z "
b ;‘ v -y (= w B} Evolute 23K 7 By Kl 2 hZBFK , =8, =

M CE )’ RB=~%2 5 2R 75| ¥RV VY v Zv I & F
yoikoim P g CE » Involute 738 2,

e 75— 22 Involute ~EBt= 7 #2540 7 L0
BRI AYR Y 2 v 9:“) 2 Ionvolute =714 Y
»—Er)o




B (1) Wil -+ Y=1-(i) » Evolute 73R4 3,
() y'=—z:';

Sk

At~

il C(XY) -~

X=(a:_bz)$a
a‘
W - oy (ii)
__(a:_ )3
Y > J

(i) »» Evolute , parametric equ. 7 ¥,
(i) ¢ (1) 29 2,9y 7 fFFE = v
aX)? +(bY) ¥ =(a? —p*)?

* Z v Evolute , cartesian equ, 7 Y,

# (2) Cycloid v=a(fl—sinfl), y=a(l—cosf), - (i) »
R, K, C(X, Y) Jev Evolute 73R » 3,
dy
s W SWG0 x 5.
[ﬁg] Y dz a(l—COS 0) cot 5
df
,_ dy _ Ay O &3 R o |
V"= de ~ df dr a(l—cosf)* 4asin£
2

’ m——
R|= |(1+ cot’ g )%= - —-lasin——-g—
a sin*
2
4a sin -5
p 1+cot'——g—-
X =a{0-sinl) + cot5- 3 =a(0+sin 0)
4a sin, 5
1+cot'~—g-—
Y =a(l—cosf) — 1 =—a(l-cosf)
da ain"-—g—-

201

fft= Cycloid » Evolute »~+ % Cycloid = v 7 fi%7 (~a,

—-2a) =vHY 0 7 p+7 bR v

§=a( P —sin @)
7=a( 1 —cos ¢ )

AR + A — 2 HER 7 < v,

# (3) B 2*+y*=a* 7 Involute 73k £ 3,

P(X,Y) 7 Involute %5, CP [ O ¥+ = vor



CP=EE=a¢
X=acos ¢ +ap sin ¢
Y=asin § —ap cos P
[ 2 Inaolute EHIALE » f=
HBozvz=s=v7BHLEEEFr»V
AR > Y o

[i] |
Xz, KR, ke C(X,Y) 75R2Hy 7 7l Kk v
Evolute 73 7,

(1) y==* (2) y==2° (8) y*=dar
(4) a2y=a? (5) y=smz (6) y=e

L5 ) y=~%——(e"+ e*)=cos hx

(8) y-—--%(e‘—o'*) =sin kv

s . T
(9) —os+-5=1 (10) e —-4-=1

KoM, =N rr» K, R, e C(X,Y) ffi7Rk =3,
(11) ik y=—5o k7% (0,0) RE(—48)

(12) MilligR  =y=40 L% (5,8) KEA(10,4)

(13)
(14)

(15)

(16)
(17)

(18)

(19)

(20)

R = k2 (0,1) RE (2 )
Nt y=log2> LB (1,0) RE (¢ 1)

T

-3
Catemary y=—%—( et +e¢ ¢ ) 28 (0, a)

Cubical parabola =9 k78 (3,3)
Cycloid z=a(0—sin ), y=a(l—cosf) | » #(0=60°),
2 (0=180°)

1 1 1
Parabola 2 +y?=a® |5 (a, 0)

Show that the circle (m—%—)’+ y*=1 is tadgent to

i

the curve y=sin 2 at the point for which ¥=—
and has the same radius of curvature at that point.
Prove that thc radius of curvature of the curve

r=acos’®, y=asin®@ has its greatest value when

w
Ak




e gt i
® ¥ J B B3

105. T—52K32<A—0AZEM

L f(at+2) ~RBEA =78 7UDTRSF Y v, 27
v 7 B8 (Power series) =Rl v@Br=es FMEER vy
f(a+z)=A, +A, 2+ A2 +A 2% +A 2 + . -A 2" ++--

FrEr IV, B2 7 BRI = v

1 (@+2)=A, +2A,7+8A ,@® + 4A .24 4 .

f"(a+2)=2A,+23A,2+34A 2" +...
" (a+2)=23A,+234A 2+
f"(a+x)=234A,+ -

lllllllllllllllllllllllllllllllll

lllllllllllllllllllllllllllllllll

f(a)=A, . A,=f (a)

f1 (@) =A, Ai=f"(a)
7 (@)=21A, Av=gyd” (@)
/" (a)=3!A, A,=—31—!f’" (a)
fM"a)=4!A, A..=4i!f’"’(“)

................................................

.....................................................
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f(a+z)=f(a)+ " (a) + 5p /7(@) +oor+ Z1fMa)+--(110)

EX=2R7 a+x 7RV=2, 27 2 7{0) = v—a ' B ¥

&IA v

f@)=1(a)+(@-a)f"(a)+ZZ 8 (a) + ..

f(")Ca) ...... (]11)

P Fr, (110) & (111) 7 T~ 5 5288 (Taylor’s series)
AR, (110) fla+x) 7 2 /ﬁﬂ”:ﬁ%:&p’}»{ B
(A11) » f(z) 7 2=a =R7ER=AV+ 4 7,

T—5 5 2B (110) Be o~ (111) =7
a=0 P A ¥

.2
#

f(@)=F(0)+21(0) + Gy 7(0)+ ++++ 0 f(0) 4---(112)
bFrve Z2v7 3{H~bAZHEB (Maclaurin’s series)
4 7,

Bl (1) sine % cosa 73 (A b AZHB =M x 7,
(%) f(z)=sma pAxr.>r [(0)=0

J'(#)=cosa f1(0)=1
" ()= —sinz 1" (0)=0
f!" (2)=—cos « M (0)= -1
SO (x)=sinx ' f(0)=0
(@) =cos z F(0)=1

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii

I



r-.- = —— —

. .-’ '.'U's .,7
T S M gy - (353)
A=
2* _ #*  »*
cos 3'=1'—' 2! + 1!__?;_ iiiiiiiiiiiiiii (114)

(113) =487 sin 10° / ff 7 IBOEIIBL ~ 7R3 A » =

10°= (107 )'=1T463" =if v,

|

ek
=]
&
*

......

sin 10° = 1736

(RE) /DBUEEMAL~ 57 §18= ~ B8 2 BT~ 758 2 vov
THF Vo r=2 b 2v e B[/ ABBNL~ 5 2 3= B
Mryrap 7RV y°

B (2) log(1+4+2) 7B~ 7 log2 47852,
(M) f(x)=log(1+=) T, £(0)=0

& (w)=11__v=(l+m)"‘ f1(0)=1
J" (@) =(=1)(1+2)"" f" (0)=-1
S" ()= (=1)(-2)(1+2)" f"(0)=2!

JOAR)=(=1)(-2)(=8)(1+=2)"* f*(0)=-3!
SO (@) =(=1)(=2)(=3)(=4)(1 +a)"*
[(0)=4!

lllllllllllllllllllll ll.l\-“'lltliii'".l“.lilil.l‘liililiii

-

2 3
log(1+2)= ; 2 — 4 —+:(115)

m=1 li * a';\'

log 2=1—_]_+ 1 _1 ol abonss

# (3) e* 72,
(%) f(x)=e* P2 v
f(x)=fl(2)=f"(2)= [ (B)="rr=¢"

f(0)=f"(0)= f"(0( =+ [(0)=---=1
SUFUTE S g omw P T e
0% Lt gpp b g o0 by (116)

m}{ty-‘f-il} AT

17 ’ a® o 23 * .
i eloand | il il i §
at  a* °
st Sl ] )
! a3 a® a’
te(e=gr+tgT— 7
ei"' WMOOBZ+E BN B  sevecencssircocssssoscrares (117)
X x 2KV = =tz bx ¥
T RO BB ARaAar s isuibnbunian ot visBousstiora (118)

(117) +(118) K& (117)—(118) =2 v

cos:c=-—;—(e££ -Fe_‘x), sinm=~;2!€—(eu -0 ) -++(119)

e -
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(119) =02 2 78V =82 P X ¥

cos ix=_%_(a’+e")=cog Ry  svnsnndsntvheindstads (120)

sin ¢ =_:':)1-‘r(e“’—e’)= —-“}-sin hv=¢sinhe -.-(121)

(117) =7 2=z P A2 b ¥ »

FrEAXRET Y.
(117) =7 z=ngd + X2 b ¥ »
" =cosn g +4 sinug
(cos @ +e¢sin @ )"=cosn@ +eEsin @  -oereenns (123)
(123) » €5 2 D35 2Z%EM (De Moivre’s theorem) I-.»l - 3
W =K FrERT o

) (4) f(2)=52"4+T24+8 7 -2 ) BHRYU=EHxt=2,

(%) S ()=5x"+Tz+3 s f(2)=37
' (2)=102+7 J(2)=27
S!"(2x)=10 J""(2)=10

f"(z)=0 /" (2)=0

Hr?*+Te+3=37+ 27(;1‘— 2) +5(a:—2)'

#l (5) logae 7 2=3 PRk = 7 BB ~, log 35 2 4fi7 &t %
3, s log3=10986 b =,

(%) f(z)=logx S f(3)=log3

() == f1(3) =+

299
" (2)m—— /" (8)=—5
" (2)=-2, 1™(3) =

------------------------------------------------------

=~ E (8 (2 =B)* o L (28)" <
log:c—log3+§(a: 3) ]8(::: 3) +i8(:r 3)*+.-(124)

(123) =407 log3=1.0986, 2=35 b A v+

log 3.5 =log 3+ -~ +618"51184+

6 72
=1.0986+ .1667 —.0139 4 .0015—.0002 + -+ +..
=1.25217.

B (6) sin(a+z) 2 Tuhs2Blk=EM«a,
[ﬂ] f(a+a:)=sin(a+ x)

f(z) =sing f(a)=sina
f'(x) =cosz /' (a)=cos a
" (2) =—sinz /" (a)=sina
f"(x) =—cosx  f™(a)=—cosa
f*(z) =sinz I (a)=sina
Sin(@ +2)=sina+a.cos a-%}sina—-%}cmai— +++(125)

a=0 PpA2Z P F»

x’ 2:5 a7

S NST T T ™




-+ X aa_g, 1—(100 sl X
o » 3 1 T 1 x4 1 " ]
sin( 3 +300) =% 3 +100°* 3 (100)721 '3
1
__lw_) 33‘ cos._g_. ® e
R '?: = .86603; cm_:,‘;_= 50000
sin(—F_ 4 -1 = 87099
3 7100

sin 60°34/22".65 = .87099.

] |
(1) sine B cosz 7 ¢ H—dAZHM=EN> 7%/
fifi 7 ABEBMRL~ 7R » 2,
(i) sin( 110 ), © e sin 5°4346"5
(i) sin(.5") (i) sin(.2")  (iv) cos(.2%)
(v) cos(.4")  (vi) cos(5")
(2) log(1+2) 7 EBAX =2 Y log 1.5 7 pRIEENAL~ 7R

30
(3) e 2 JEpAR=2Y ¢ 2fi7 PBUEBHPL~FR * =2,
K7 JEPA 7 G € =2,

(4) a =1+'r|0ga+ (loga)'+ (loga) o ssonve

(5)

- (6)

(7)
(8)
(9)
(10)
(11)
(12)

(13)

(14)

301
C TR AL TR N
sk ey SR 7 S
1
EI (5) ﬂi’ $=-—2-- PA TN

T 1 3. L% 18 1.X\
s=2t23(3) taislz) +

7B, Zva) =« 2ERHE7 ABEB=M~ 7R € 3,
-2 =1 7 F>]°

= xs 2 5 17 LN | L

tan x=x +T+ 152: o s 315 7 4+

—l= —._afj ._/Bs_
tan T—— + z

5
sin hx=xz+ Z’! +_§I-+ ......
C08h1=1+f_l_+_ti+ ......
21 " B

428 -172*+112+2 7 =2+3 7 FHiB=JEP € 2,
cos(a+x) 7 T—» 528 =EPH ~ cos32° 7 /hESH
Eﬁl"'f"ﬂﬂtao

log 3=1.0986 74n9 7 log 3_.:1_ 7 I IERL -~ 73R A

sm(--+x) 7 JEBH >~ 7 sin 61° FRA 3,

e — e g, —



F_q-!—“.-‘ - o =

——— ———— - --—-—-—--“4

—

- = - - —— il _.—.-—1-—-".:..-——--—-——.4-—-.__..-_—. o
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106. &= E

27k f(2), #(z) 5 e=a = 7liff{=v 7 j(a)=0,
P(0)=0 Fw»bxr f(o)@(z) *PHBRX 7 2=a =¥
M - g b IFARETIY, =2 PR 2RI AER

(Indeterminate form) +4 7, RvF=z ama F 7} %

S(2)[@(2) 7 BIRME~ D5 Xy e REF 7%, Wh=Bv=,

BRI TFEAM Y 5, 22707 f(2)|P(2) 7 r=a =
Brriv=, B

LG Ty SR - RS SR
[ ¢(.'L') z=a ]:-l—nrl ¢(3) (126)

fﬁ*ﬁiﬁ.-.-...«. "g— ’? 5= co' OXeco, 0=co, 1%, o° e

co
rCrE/ BETY.

(A iR -

7(a)=0, B(@)=0 #» b x lim L0 7o ni
RoRA 2, |
T—»52%8 (110) =a )y

f(a+h)=f(a)+h ['(a) +~g:!-f"(a) + %-}f”f(a)+

glat+h)=g(a)+h 3'(a) +%—}-ﬂ"(a,‘: +%}g"'(a)+-.-

—— — T—— -

fla+h) _ f(a)+hf'(a)+ z: (@) + -

ﬁ(“+k‘)_g’(a)+h¢"(a) +g: (@) + -

Rv= f(a)=0, F(a)=0 Fw»rfk=

h
fla+h) _ f'(a)+ o1 fr'(a)+ +-

g(a+h) &'(a) +?h!-g'"(a)+*"

: f(a +’")= f'(a)
lnﬂn Fg(a+h) g'(a)

: T Rt R SRR e 127
l:..r_pnn g(x) ¢'(a) ( )
CERD) L)y s=a 2R7 2 FABIMME R,
g (x) 0 '
Eﬂﬁ?*&l’y-ﬁ;‘ ;:,((‘:)) -':-w? T=0 l‘m‘)';\'-ﬁj""yg ﬁl
ﬁ:-’- V?ﬁif ;:E:; H T=a -‘E-Rj" —g—- ‘}‘)V}ﬁ?ﬂ | R

"(. e il
;"E;; =7 a=a VBr~ T+, UTBIR2Z 7 in2 =

~N Yo
B (1) S =gy a=2 Frt X MRS A,
W) By =lm 22 (g FERE)
d(x* —4)
_[ d(:iz)_ ]
=) s
= (5] =4
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B (2)  lim TN S gyRea (O REE)

r—p 0 £

i Z—Sin —lim 1—C082 .  sinz _ 1

[ﬂ] :THI ad :ﬂu oL” 1:2& 6¢ 6
o
(B) Fik =

;((3 =7 f(a)=co, g(a)=co Fm} %

lim /(%)

z—a ﬁ(:l:) TRAVE 25

Zv —g~ FNMIEF » = —-g-— =HAVER] =3

1 _ #' (=)
lim ¢§;v) =1lim g*(=)

z—pa P—— 1 (=)

J () f* ()

g f (@) 1
-

(¢) f(x) #'=)
() " #(z) " (=)

e
R
=
| -
<
30
&
=
I
Q
It
3
N
3|8

FMEZRV G 2 B
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A7 R 2 VR~ o FATE B R—T

(C) FREE Oco Ry oo—co

R 000 R comoo » o X = =Mi%7 7 /7
Rawv=r 78,

# (4) lim 2cotx 73R * = (0.co 2 E)

x—>0
. : @ 0 _
[ﬂj l,:Eiu ;z:cola:=l:§n - (—-6- 7E)
>0 SEC X
() dim (1) TR, (20— STE)
g—p 1 IOg'.'E a—1
. 1 N e m—l——loga:}“_ 0
() Iﬂ.( log « a:-él)_lﬂx (x=—1)log ( 0
1
. S 0
N i S o,
=l l=—+loge
4
1
—1; a? L
g 7 L 2
AN )

(D) FEH 17, o, 0°
r=a > 7 b ¥ [f(wﬂ% wh=Rmervivir?IE7 b

Ve x»

y=[f0®]% ........................ (1)



e —

—

-
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P A #ﬁﬂ/ ﬂ&’ | I 2P

(1) 758> »=a =87 Oxco 7 t¥#wl= (C) b

log y= ¢ (x)log [ f ()] «erervess (ii)

=72 724i7R2V7= 1+ 78,

(%)

1
W (6) lm (1-)7 7RA=, (1°)
1
y=(1-2)*
log = log(;—.r) (_g_ )

lim (log y)=lim (i—-lx)":"l

z—r 0 x—> 0

llm y::e_i
r—>pC

B (7) lim (%) 7R2x3 (0%

(%)

—>o
y=2"
log y=zlog x= lolg =
=
lim (log y]=li50[_‘°ﬁ z ] ...... (g_)

=tim |2 |<tim (-2)=0
x—> 0 —1 r—>0

llm y:::c" =1
r—»0

B (8) lim ()" rRAas (o)

z—»0 7

W) v=( )"

r

log y=tangz log( 1 )— —tanz.log

lim (logy)=Ilim (—tanz.log)=Ilim (— log;n)

z—» 0 *—> 0 z—p 0 cot =
1
: [ @ ] . sin’x
=lim = =lim
+—ro —COSEC T T—> 0 &L
2—30 1
lim y=8" =1

r—>0

107. ¥ =5 > 7n 7 Kk 4 ViE

B (1) r ST 5. SRsa,

() 2K (113) =23

sin @ z® z* 2a°
s et aryTt
¥ sin @ . B L AR A"
r= et e = )d
jo “r dt u(l 3' +5! 7'+ ) ’
o s 27
iy © Rk TS e ol

307



T M — N —

 —

308

Bl (2) _‘.: log(1+2) 45 53 1

€T

(#2) AKX (115) =3y
log(1+2) o5

F,

£ x?® 23
z O Rt
log(1+ @) S W o s
S ——dvm) (e-mtryt "
P i 24 1
TPt E TR R
T R
=1 2'+ 37 4:“"— .....
i izl
*/Emﬁ7*"' 2,
O . log =
(1) ll.i"f’.u . (2) E_“L ik
' x . log «
(3) lg-__c’_ (4) ]:Eocosecm

(5) lim (-*—a)tanz (6)

o'
::—-lv-t

(7) lim @ cos v—log(1+4 )

(8) ]alf-lm( Sltll.b_:}') (9)

. a*

Iim (sin X )’
z—3 0

T

(10) Im (ztan r——"_sec )

—T 2
(11) lim (14+—) (12) lim (sin +)ars
r—p @ & o
(13) ]iﬂlw"" (14) lj_l_tlns{n_;:::-m
(15) X2 FEEp7kRKR %2,
(1) r = (ii) S‘%—{Iw

(iii) j'a:r’d.n

(iv) j:.b log(1—a:)d

R FX7@R e,

(16) j'fa-zwm-_—.m_ = 5("’2“!) _7_(1‘;!_).+ ......

(17) le’i g3+ gs-}--;';'r._,_ ......

any [El=a)_ (1,11

(19) aj‘[/ —ecos d dr =% _“;'_'(-12__ 2 )_951(1_3 ™
M e,_a';b'

(i) 1(/1-e'cos’d 7 _JigM=7EMx=,

309

5[l ~ J&] 7 element of eught » a}/1—e"cos®d F J,
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T .28
B2 HEX

108. W7 H B X 7 £F&
B~ R 7 & 2 KRR 7 WA HEA (Differential equa-

tion) + 4 7,

WA KRR =6~ ~ REHIRE 2 W? RGP FRR
FEBL (order) ® 4 v, SERPMEGHIREBL, KBk 7 36 7 K BU(degree)
P 7,

i) ~ o~

ay . i
= =S8in x4 ¢ (—PE—%)

a(d 1;) —~b( Jg___o)ﬁ.*.ky:() (ZBE=%)

1+ [=rEHT (=%

dx?

W~ vavignhBRR 2 ViER 7S~ 2 b y b 7
/MR IR v =2+ 7R HFRRIM2 + 4 v, XPER
TREHDHRNXN /M4 7, MAHHR~HEBB L 808/ i
Mili=W=WM7 27 vhRKR=vr72Zv~7HB W@ v >

Erer,

311

109. & 5 5 #2 X 2 W %

@y REER 7 ER 7 &£ H K 2 ) MEBEY  (Arbitrary
constant) Z{HE A2 vl R 7B,
B (1) G2 FHFBREX y=me+b...... (1) Z28FpPA v

(‘g O e (ii)
S8 ud L.,
p 0 ()

(1) ~FfRBEk» m, y fih b 2 ZE8» b Fr—K 7 7 HER
FviEE (1) » b 78 ~Yruf=MFEH m Fri
7R, 2,

x= (ii}) 7 7Y =0 ~7 /ififh=2607 »HH WibE K
nNBEIVav IR~ =i T BT R AU H
- vy ol B

B (2) (r—a)* +(y=b)*=r*.(i) F{gFF2 v~

(x—a)+ (y=-5) gg wl) cisiesscsans (i)
14 (3=0) L+ ( W ym0 ... (i)
g2 o

[1+(d' ]fh:z_ G ()

(i) »~Hpn (a,b) =y 7@ r Fr—v 2|7 FBREF v




!
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Fe (1)) » r 728~ E=F8 720 =1 3 dp
(a,0) *ri7 /H=EBRF+r »HEHRIE 2, XK= (i) »
aRr 7H~¥Ywvrfk=vp>y y=b F*rilif k=77
[{7&»~,

R=(v) »=Z=Z2 7FEEHa b r )ffvEd~Frrfk=
W7 [ =358 T 7R 2, AR 2 GRE YT,
M ERyr—EFr =2 b 752, = (v) 7 7 H7%
» 2R T Y .

Wizsdmz—2 7 EERERTMEZEA v —P B HHEX 71
Y EREBMIMEA v MAGRR T/ o 75
VLY

M= EREA 7R 2 b » E7HER2 VX7 ¥l 2 = b
Fvoa—gs BURER B ? X—v ) ERERT A 2,
Mo wnhRR s oy VEBER IR T ),
—He= n B WBRHBRX/ Mo n v 7 EBERI B2 =7 =
vIZH/ERERAE=0~ 7 v 2 r}lifkiE= 2 78
EANVEI T,

B (1) 7rBEMRT Y, 2/ 1 ﬁ
Mg 2 fBEE 2 M= > &~ slope %
AW x JEE ) 2 /%Y b \ ‘

A7, 2787 HFHEX7 R 2, \\0
S

313

(M) Rk FR2E87 P(oy) P 2vow

slom_—--—{b— =2z ------------------ ( i )
dy =2z dx
Idy= ,[% e
Y=2"+0 cerrerrienns (11)

(1) »=2 78R/ @A HFRKX=v7 (1) ~HEFY, C »HK
EM=v7, 2 C =Hr/2fi787 v E’2mz—B~
AR (Family of curves) 7§~ v, 252, —¥ Rk
Pk~ Pl v e (1) F ARG HERE 7R 2V 7k =2F 7 HhR
7 fi &R (Integral curves) p 4 7,
ARE == 2 i~ (2.3) *EETBVE 2 b4 7 TR TERE
725 v (1) ay

3=4+c¢ e O0=-~=1

ﬁﬂ/jﬁan y=;19'_1 ......... (iii)
by TR =8 2 HE— 2 2 R 7 7
B (2) W7 PEIE SOmfsec =7 L= »2r + % 4+
Bt P EIETR A 36
fiy g=08mfsec® =y 7R/ IXILF+r*=<7 v 2,

(%) Em*/KRIE 2 v MEEg ~TFh=tER2rr
fic = Wi 7 KW 2 A HEX K7 u v,
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1

314

z v ’H»ﬁ | R

e k2 7 K%~ 50mfsec + & il =

t=0 7 b % v=50 +9 f= ¢=50
v=_gt+50 ........................ (iii)

PR EE v »
v=—gX4+50=10.8 m/sec.

(1) 7 d 7 fEREB 7 & 2% 7 —MER (General solution) b 4
b, —MP — 28 EEEM=—E 77 RA v 2
€7 7, §YM (Particular solution) + 4 7, R =1k
R =—Rh =G~ vy VBRI M7 fEarva v 7Y,

Zv 7R (Siuglar solution) + 4 7,

N0 5 % 5> it w7 fik > v 3 A

R~ 7 v 2 r R HRER
f(x)dz+ @ (y)dy=0

P =%+ * = B IMN (Separation of variables)
HAREF Y v 47, My f(2) e d(y) ~Fr o Be vy

7 L 7MY b 2,
il 7 B 2 v

jf (a)de + j¢ (y)dy=e

B (1) ¥ =3-5:+10 IRy,

() dy=(3¢* -5z +10)dx
gy j (32* —52+10)da

=2 — —g—n:+ 102+¢

B (2) ﬂ:—dy—q-{-y’::] 7fEre

A%

(fR) B8 77 8=

1 1 1 1
[ﬂ) “T—.i"’" P +

315
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[vl

S

B (3)

(A% )

- 8 T+ a
oy(1+a*)dy=(1+y*)de IR >,

e 1

f.—_- - ;
]+y=ry m(1+x)'dl

Y ’=j_] ’=j'1___:u}
jl+_’y"”‘F :t:(1+:c'Tx > 1+ a? -

1 2 1 4
-§_Iog(l+y )=log @ — -—2-log (1+42%)+e
2 x®

2 v =87 2=loge, }A ¥

(1+2%)(1+y")=¢,a?

— e e N ol

S — - —— : —
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M. W X ¥

B~ Z vz gy

dy _ f(=9)
dx P (4, y)

FrEYFIRY f(ay) Re ¢(vy) »RA 2,y 7 XK
77 b % (1) 7RKIE (Homogeneous) + 9 +F 4 7,

WX 2 A HER =17
PR (‘L vta j‘; ............... (ii)

FrifRET R BBIMEYTHE ¢ v,

Bl (1) (ey+y*)de+(ay—a®)dy=0 7%,
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